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QUESTION 1

Why are estimates expressed in terms of story points difficult to explain outside of the team?
A. It requires a comparison to a benchmark, which typically varies from team to team.

B. It requires a deeper understanding of the technical approach to implement each story.

C. It requires breaking the stories down into Sprint Backlog Items, which only the team can do.

Correct Answer: A

QUESTION 2

A team is estimating story points. They estimate that the story falls between a large (13) and a medium (5) and they
assign a story point of 8.

What is this technique called?
A. Affinity estimation

B. Fibonacci estimation

C. Triangulation

Correct Answer: C

QUESTION 3

What is an information radiator?

A. A physical display for the team that gives information about the current status.
B. A tool that automatically sends relevant information to the Product Owner.

C. A status report or dashboard that is maintained by the Scrum Master.

Correct Answer: A

QUESTION 4

What is the relationship between the Product Backlog, the Release Backlog and the Sprint Backlog?
A. The Product Backlog is a subset of the Sprint Backlog, which is a subset of the Release Backlog.
B. The Release Backlog is a subset of the Product Backlog, which is a subset of the Sprint Backlog

C. The Sprint Backlog is a subset of the Product Backlog, which is a subset of the Release Backlog.
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Correct Answer: C

QUESTION 5

How does Agile bring predictability to the Planning process?

A. By allowing the customers to review the progress often.

B. By assigning most of the responsibility to the Product Owner.
C. By making the team self-organized and self-planning.

D. By providing early visibility into the team\\'s progress.

Correct Answer: D
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